Part B- structured essay (55 marks)
Write down the answers in the space provided. . .
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. (a) Calculate the root mean square speed of X, at -3°C. The relative atcmic mass of X is 4.15.
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(b) Draw the structure of Red-phosphorous.
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(c) Write down the electron configuration of the Cr*, 8¢c? +, Ti¥*
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(d) Write down the balanced ionic equations for the oxidation of Fe*" to Fe’ by CrO4* in
acidic medium. :
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(e) An excess of silver nitrate reacted with 25.00 can’ of a solution of CaCl,, producing calcium
nitrate and 4.498 g of AgCl. What is the molarity of the CaCl, sc]unon
(Relative atomic masses, Ag = 108, Cl = 35.5)
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